IFB: 16/17-01

PROJECT: Tonto Road Adjacent Ways

Place: Business Office
Dated: April 20, 2017

Time: 9:00 A.M.

Bid submittal of J. Banicki Construction, Inc.

(Firm Name)

a corporation organized and existing under the laws of the State of Arizona;

a partnership consisting of (Names)

an individual trading as (Name)

PROJECT: The project includes construction of concrete fire lanes and sidewalks and reconstruction of Tonto Road and associated utility work.

TO: Toltec Unified School District (Owner)

1. In compliance with your Notice Inviting Sealed Bids and Instructions to Bidders, the undersigned hereby offers to furnish the materials and perform the Work for the Owner's Project designated above in strict accordance with the Specifications, Schedules, Drawings and all other pertinent Contract Documents, and agrees, upon written notice of acceptance of this Bid at any time within ninety (90) days after the date of opening of the bids, that he will execute the Contract in accordance with the Bid as accepted, within ten (10) working days after a Notice of Award is presented for the following sums:

Base Bid Total (words) Eight formand of the Thomas

Sent of the Song of the So

Note: The Base Bid shall match the "Total" as shown on the Bid Schedule. The Bidder will enter the line item "Quantity", "Unit Price", and subtotal in the "Extension" column below, which is the product of the "Quantity" multiplied by the "Unit Price". The Bidder will enter the "Total" as determined by totaling the line item Extensions. The Unit Price information will be used for changes to the contract.

In the event of a mathematical error, the correct product, determined by using the "Quantity" and "Unit Price", and the correct sum, determined by totaling the correct line item Extensions will prevail over the amount(s) entered by the Bidder.

## 2. Alternates (If Applicable)

Pave Wupatki Drive from Tonto Road to N. Grande Road and Grande Road from Wupatki Drive to Tonto Road inclusive of Grande/Wupatki intersection. Use same asphalt, base and center to side grade installation specifications for Tonto Road for 24' wide paved road, no curbs with turn flairs and tie in to existing pavement at intersections. All project installations shall meet city requirements.

Alternate #1 Bid (words) One from the start of the start

IFB: 16/17-01

**Bid Form** 

**PROJECT: Tonto Road Adjacent Ways** 

Page 2 of 2

- 3. It is understood and agreed that the work under the Contract Documents shall be commenced by the undersigned Bidder, if awarded the Contract for the Project, on the date specified as the Start Date in the Notice to Proceed issued by the Owner in the manner specified in the Contract and General Conditions. If the Work has not reached substantial completion by the date specified, then the undersigned Bidder shall pay the Owner the amount of Five Hundred and No/100 Dollars (\$500.00) as liquidated damages for each calendar day after the substantial completion date that the Work remains incomplete.
- 4. The undersigned Bidder hereby acknowledges receipt of the following Addenda, if any: Addendum No. \_\_\_\_1 Date 4-3-17 Addendum No. \_\_\_\_\_ Date 5. The undersigned Bidder understands that the Owner reserves the right to reject any or all Bids or to waive any formality or technicality, as determined by the Owner in its sole discretion, in any Bid in the interest of the Owner. 6. Arizona Contractor's License No (s) ROC 091410 (Official Name of Firm) \_\_\_\_\_ J. Banicki Construction, Inc. If Bidder is a Corporation Print Officer's Name: Mike Abraham President Title: Complete Business Address: 4720 E. Cotton Gin Loop, Ste. 240 Phoenix, AZ 85040 **Business Phone Number:** (480) 921-8016

Line ID	Item Description	Unit	Quantity	Unit Price	Extension [Qty x Unit Price]
A	Mobilization	LS	l	9060.00	9000,00
В	De-mobilization	LS	·	9000.00	9000.00
	Mill or crush existing pavement		·		1000.20
С	Include stockpiling spoils	SY	6183	2.00	12366.00
D	Remove Curb and Gutter	LF	90	9.60	810.06
	MAG Std Spec 350				
Е	Remove sidewalk	SF	SZZY	1,50	7836.00
	MAG Std Spec 350				
F	Remove existing culvert;	12			
F.	backfill and compact trench	LF	321	24.00	8424.00
	Miscellaneous demolition, not otherwise				
G	identified. Include Clear & Grub, Trees,	LS			
	headwalls, block wall.			6200.00	6200.06
	Misc. Earthwork [excavation & grading]				_
Н	MAG Std Spec 301. Include Reshape Ditches,	LS .		choll a	octil raco
	Basin, landscape gravel			17/1/05	17,200
1	Vertical Curb and Gutter	LF		a of	<b>,</b> (10
2.0	MAG Std Det 220-1 Type A 6" high	LI	2364	15.00	35460.60
j	Single curb	LF			
•	MAG Std Det 222 Type B 6" high	ь,	336	33.60	11088.00
K	Sidewalk	SF			
IX.	MAG Std Det 230 4" thick		5134	7.00	35938.60
L	Sidewalk/Curb ramp	EA		•	
	MAG Std Det 235-#, as called out			1600.00	1600.00
М	Concrete scupper	EA	,		
	MAG Std Det 206-1 5' SW			7500.00	2500.00
N	Concrete Driveway return	SF			- mil
	MAG Std Det 251		2279	9.00	20511.00
0	Pavement - 3" AC on 8" ABC	SY		7500	700 1 400
	MAG Std Spec 321		9225	. V	270/075
Р	Pavement - 3" AC on 4" ABC	SY	. 199		9950.00
	MAG Std Spec 321		A 199	50.W	7750.00
Q	Asphalt Emulsion Slurry Coat	SY	3068	150	10000
	MAG Std Spec 332 Firelane - 6" concrete on 4" ABC		3086	<u>6.</u>	1,970
R	MAG Std Spec 324	SY	944	54.00	50976.00
	Catch Basin, MAG Std Det 535-1; HDPE pipe		477	37.00	507 16,00
S	and shallow base MH riser, ADOT C-18.10	LS	,	10500.00	10560.00
	New 40"x31" Arch CMP			10500.00	70300.00
Т	Include 30" CMP Risers	LF	3309	(0 68	198540.60
U V	Headwalls	EA LS	3301	60.00	110340.00
	MAG Std Det 501-1, Type L or U		2	400B.W	86W.W
	Shotcrete			4009.00	0000.00
	MAG Std Spec 525		. 1	7400.00	7400.00.
	Relocate Existing Chainlink fence,		· /		
W	Include gates	LF	364	23.00	8372.60

Line				*	Extension
ID	Item Description	Unit	Quantity	<b>Unit Price</b>	[Qty x Unit Price]
Χ	Striping	LF	9390.	1.00	9390.66
Υ	Traffic Signs	EA	18	620.00	11160.00
Z	Traffic Control	LS	V		
	MAG Std Spec 401		1	17000.00	17000.00
AA	Miscellaneous construction,	LS		,	
	not otherwise identified		/	15000.00	15000.00
BB	Allowance for fiber optic coordination	LS	1	5,000.00	\$ 5,000.00

Total:

807,708

End

Sawcuts shall be included with the demolition line item prices.

Adjust frames, covers, boxes shall be included with the paving line item prices.

Earthwork incidental to sidewalks, curb, C&G, pavement section, valley gutter, pipe, or other structures shall be included with the corresponding line item price.



April 20, 2017

J. Banicki Construction, Inc. 4720 E. Cotton Gin Loop Suite 240 Phoenix, AZ 85040

> 480-921-8016 (phone) 480-921-9456 (fax) License No. ROC 091410

Toltec School District Business Services 3315 N Toltec Rd Toltec, AZ 85131

Attention:

Jeff Van Handel, Ph.D.

Superintendent

Reference:

Civil Improvements for Toltec Middle School

Subject:

Subcontractor List

J. Banicki Construction, Inc. (JBC) is pleased to submit this list of proposed subcontractors for the Civil Improvements for Toltec Middle School project.

SUBCONTRACTOR

RESPONSIBILITY

BOG OSM CONCRETE

Concrete

If you have any questions or require additional information regarding this matter feel free to call me directly.

Sincerely,

Charlie Babich

Chief Estimator J Banicki Construction c - 480-521-0250



J. Banicki Construction, Inc. 4720 E. Cotton Gin Loop Suite 240 Phoenix, AZ 85040

> 480-921-8016 (phone) 480-921-9456 (fax) License No. ROC 091410

April 20, 2017

Toltec School District Business Services 3315 N Toltec Rd Toltec, AZ 85131

Attention:

Jeff Van Handel, Ph.D.

Superintendent

Reference:

Civil Improvements for Toltec Middle School

Subject:

Subcontractor List

J. Banicki Construction, Inc. (JBC) is pleased to submit this list of proposed subcontractors for the Civil Improvements for Toltec Middle School project.

SUBCONTRACTOR

RESPONSIBILITY

BOG OSM CONCRATE

Concrete

If you have any questions or require additional information regarding this matter feel free to call me directly.

Sincerely,

Charlie Babich

Chief Estimator
J Banicki Construction
c - 480-521-0250